Flange Lifter

C

SELF-LUBE BASE MOUNTING TYPE

)

s 22

4 N 4 N
SOFLV50 HETable of Components SOFLV80 103 HTable of Components
No.| Description |Qty|Material and Remark 58 No.| Description |Qty| Material and Remark
(D |Casing 1 |CastIron (O |Casing 1 |Cast Iron
- - 250 35 2-$12.5 - -
@ |Slide Pin 1 | SO#50S20C ~\./ ‘ Tovel g peparediae)_ 2 | Slide Pin 1 | SO#50520C
(3 |Lift Block 1 | Steel () |Lift Block 1 | Steel
a0 55 @ | Stopper 1 | Steel / CI} Gj F @ | Stopper 1 | Steel
0 ® |Spring 1 | TF35-150 N ® |Spring 1 | TF40-250
20 2.4125 (® | Hexagon Socket Head Bott| 2 | M12X40 (® | Heragon Socket Head Bolt | 2 | M12X40
Dowel pinpreparedhole)  (7) | Hexagon Socket Head Bott| 1 | M8X20 (@ | Heragon Socket Head Bott | 1 | M8X20
‘ i Dowel Pin 2 | $8x30 Dowel Pin | 2 | #8X40
= — © [Lock Pin 1 |Steel
7 ‘ R Hexagon Socket Head Bot| 1 | M10X16
Adjustment
allowance
5
10 o i
Adjustment ©
allowance Top dead
$65 _center
D
F S|
o ®l= N
@ |_
a'a-; Top dead Bottom dead|
b=1 § center
e
"Bottom dead R
center
8
S
k]
o % o % 'g__‘ug
Spring Mounting Final Travel Spring Mounting Final Travel T=» :g:
Outer diameter(mm) | Free length(mm) | Length(mm) | Initial load(N) | Length (mm) |Maximum load(N) (mm) Outer diameter(mm) | Free length(mm) | Length(mm) | Initial load(N) | Length (mm) |Maximum load(N) (mm) a°
35 150 138 160 88 810 50 40 250 230 200 150 1020 80
Catalog No. S ’Q Order \Catalog No.H S \_\ Option \ Catalog No. s Q Order \Catalog No.H S \_\ Option \
SOFLV 50 SOFLV 80
SOFLV | S0 SOFLV 50 -  Ni2 SOFLV | &0 SOFLV 80 -  N12
N P Option (T /L Option ——
llj Option Code Specification t"/ Option Code Specification

Dowel pin prepared holes of casing are
changed to ¢ 12H7.

Dowel pin prepared holes of casing are

changed to ¢ 12H7. N12

N12

Refer to page 341 for option parts. Refer to page 341 for option parts.

322

321

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.





